
REŠITVE 5. TEDNA 

PLOŠČINSKE ENOTE 

 
1. REŠI V ZVEZEK: 

UČBENIK/str. 150/ 5. naloga 
 

             Pri pretvarjanju si lahko pomagaš s spodnjo preglednico: 

 

 

 

 

  

km2 ha a m2 dm2 cm2 mm2 

         8 0 0   8 dm2 = 800 cm2 

       0 1 4 1 2   1412 cm2 = 14,12 dm2 = 0,1412 m2 

 3 5 0 0 0 0 0       3,5 km2 = 3 500 000 m2  

     0 0 7 4 8     7,48 dm2 = 0,0748 m2 

         6 4 5   6 dm2 45 cm2 = 645 cm2 

       3 0 7     3 m2 7 dm2 = 3,07 m2 

           3 0 8 3 cm2 8 mm2 = 308 mm2 

       6 0 6 0 6   6 m2 6 dm2 6 cm2 = 60 606 cm2 



UTRJEVANJE 
 

1. REŠI V ZVEZEK: 

UČBENIK/str. 150/nal. 6, nal. 7 (Namig: vse pretvori v najmanjšo enoto.) 

 

 


